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JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET| I EsA ERsH &EH (H) | (&)
X 49,952 109, 802] 53, 359] 56, 443 51 31 -84 44 128 115]  438] 323 0 136 136
HI—TH 719 1,469 714 755 -1 -3 —4 0 4 -2 4 6 3 3 0
FLl T H 588(l 1,323 659 664 9 22 -3 0 3 18 19 1 7 7 0
LI =TH 476 1,044 497 547 1 3 -2 1 3 6 6 0 -1 0 1
SLlAE 1,783 3,836]  1,870| 1,966 9 22 -9 1 10 22 29 7 9 10 1
Sk —TH 488 935 440 495 0 5 2 2 0 6 12 6 -3 0 3
. = 748 1,693 810 883 7 12 -2 1 3 7 8 1 7 7 0
SR —TH 563 1,288 612 676 -1 3 0 0 0 1 3 2 2 4 2
S AT H 404 886 444 442 1 4 -1 0 1 3 3 0 2 3 1
ot T H 627l 1,303 627 676 1 -6 -3 0 3 -5 3 8 2 2 0
BN T B 234 483 242 241 -1 0 -2 0 2 2 3 1 0 0 0
ARt TH 652/ 1,601 784 817 6| -10 -1 0 1 0 3 3 -9 0 9
oA\ T H 397 839 385 454 -1 -2 0 1 1 -2 0 2 0 0 0
IV B 629| 1,477 720 757 14 2 2 0 8 11 3 4 4 0
B naatl 4,742 10,505 5,064 5,441 20 -5 6 11 20 46 26 5 20 15
e n—1H 368 800 393 407 8 14 0 0 0 11 11 0 3 3 0
w7 AL 1,038 2,088 1,045 1,043 -4 -15 -2 1 3 -8 5 13 -5 1 6
HHk o —TH 679 1,361 658 703 -1 —4 -2 0 2 3 6 3 -5 0 5
W A EEl 2,085 4,249] 2,096] 2,153 -5 —4 1 5 6 22 16 -7 4 11
ST a1 H 561 1,239 601 638 2 4 -1 1 2 4 5 1 1 1 0
ek R _TH 357 901 452 449 -1 -1 0 0 0 0 2 2 -1 0 1
Mk R =TH 259 555 286 269 2 3 1 1 0 1 3 2 1 1 0
ik L G| 564 1,296 658 638 -2 -6 -2 0 2 -1 2 3 -3 0 3
ek aaEt] 1741l 3,991 1,997 1,994 1 0 -2 2 4 4 12 8 -2 2 4
TEIT) 390 834 400 434 -1 -6 -3 0 3 -3 4 7 0 0 0
HOEEN— T H 203 419 212 207 -2 -1 1 1 0 -2 1 3 0 0 0
HOEE T H 452 966 473 493 3 1 1 0 3 8 5 1 2 1
HoEEI =T H 749 1,780 868 912 0 1 1 0 0 7 7 3 7 4
HOEEAN T H 861l 2,098| 1,055 1,043 8 -1 2 3 3 8 5 7 7 0
HEROH T H 433 1,003 507 496 0 -1 -1 0 1 -1 2 3 1 2 1
HOEEIS T H 395 836 400 436 2 0 -5 0 5 0 1 1 5 5 0
HoEEOETH 689 1,449 719 730 0 -2 0 0 0 -1 3 4 -1 0 1
HOEESOSE 3,782 8,551  4,234| 4,317 11 14 —4 5 9 2 30 28 16 23 7
pEEEs | 1,521 2,701 1,292 1,409 -2 -7 -12 0 12 1 5 4 4 4 0
FHIAR 311 646 330 316 0 -3 0 0 0 1 4 3 —4 0 4
EE g —T 564/ 1,122 526 596 3 6 -3 1 4 8 9 1 1 3 2
EE g — T 253 496 244 252 -3 -3 0 0 0 2 2 0 -5 0 5
R =T H 548 1,167 585 582 -3 -9 -2 0 2 -7 0 7 0 0 0
TEE Py T 662 1,306 624 682 -3 -7 0 0 0 -6 1 7 -1 1 2
EEP g R T H 245 549 271 278 0 1 -1 0 1 2 2 0 0 0 0
e A2 2 272l 4,640]  2,250] 2,390 6|  -12 -6 1 7 -1 14 15 -5 4 9
EEIARRT— T H 727 1,414 673 741 12 14 1 1 0 10 21 11 3 3 0
EEIARRT T H 679 1,284 588 696 -8 -10 -3 1 4 —6 4 10 -1 0 1
EEOARRTAE] 1,406 2,698 1,261 1,437 4 4 -2 2 4 4 25 21 2 3 1
RPN 270 756 409 347 -2 -2 0 0 0 1 4 -3 1 4
WHR—TH 753 1,648 803 845 5 5 1 1 0 4 1 0 0 0
WOOR T H| 1,729 3,880 1,867] 2,013 0 11 -1 3 4 17 27 10 -5 0 5
WHR=TH 896l 2,224| 1,086 1,138 10 0 0 0 9 11 2 1 2 1
HHRIT H 509I 1,194 557 637 3 2 -3 0 3 7 9 2 -2 0 2
HPREEH 3,887 8,946| 4,313 4,633 10 28 -3 4 7 37 52 15 -6 2 8
HiR—TH 727 1,568 765 803 0 -6 0 1 1 -6 3 0 0 0
IHR_"TH 983 2,275| 1,143| 1,132 -1 -5 -1 0 1 -5 3 1 2 1
PR =TH 511 1,056 547 509 1 2 -1 0 1 1 11 10 2 2 0
dbrhiRaaH 2,221||  4,899| 2,455| 2,444 0 -9 -2 1 3l -10 17 27 3 4 1
T IROBTHT 326 790 373 417 6|  -12 0 0 0 —4 5 -8 0 8
el 11,6400 5,078 2,264 2,814 5 9 0 3 3 2 3 7 8 1
M E T H 803]| 1,817 882 935 2 -1 0 1 0 0




R7.1.1 Bl SramEEAnR S sl R
JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i s A AR AR SET) ] A EREH &EH (H) | (&)

FYlE 1T H 787l 1,803 901 902 3 2 1 1 0 4 7 3 -3 1 4
MoE =1 H 640l 1,473 721 752 2 3 -3 0 3 1 6 5 5 7 2
A EN T H 936  2,179] 1,040[ 1,139 1 0 -3 0 3 -3 6 9 6 7 1
RCENNE 676 1,493 734 759 —4 -7 0 0 0 -3 6 9 —4 2 6
MAEST H 431 977 450 527 1 1 -1 0 1 0 1 1 2 2 0
A E AR 4,273 9,742] 4,728| 5,014 4 1 -7 1 8 2 31 29 6 19 13
VEPIe S 590/ 1,151 565 586 0 -1 -3 0 3 0 3 3 2 2 0
e —TH 328 694 331 363 -2 -2 -1 0 1 -1 0 1 0 0 0
i — T H 596 1,301 620 681 2 0 -1 1 2 3 5 2 -2 1 3
A gl 924 1,995 951 1,044 0 -2 -2 1 3 2 5 3 -2 1 3
Eh— 1 H 342 755 384 371 2 3 0 1 1 3 3 0 0 1 1
B — T H 698 1,420 667 753 -3 —4 0 1 1 -3 1 4 -1 0 1
=T H 435 1,083 543 540 3 4 -2 0 2 1 2 1 5 5 0
B Et] 1,475 3,258 1,594 1,664 2 3 -2 2 4 1 6 5 4 6 2
e —TH 392 922 430 492 0 -1 -1 1 2 0 2 2 0 0 0
WHE T H 456 1,075 532 543 0 -2 0 1 1 -1 3 4 -1 0 1
HWHE =T H 852l 2,068| 1,041 1,027 3 10 0 1 1 14 22 8 —4 0 4
W& T B 437 989 478 511 -3 -11 —4 0 4 -2 1 3 -5 0 5
B E ] H 849 1,803 893 910 3 0 -2 1 3 3 3 0 -1 4 5
HHIENT H 249 496 246 250 3 0 -1 0 1 0 3 3 1 1 0
HEOEE 3,235 7,353] 3,620 3,733 6 —4 -8 4 12 14 34 20/l -10 5 15
<HWE—TH 600[l 1,309 636 673 2 —6 0 0 0 -1 2 3 -5 0 5
<HEIL—TH 709 1,454 716 738 -1 -5 -3 0 3 -1 3 4 -1 0 1
SHBEIL=TH 509 1,095 536 559 1 6 0 1 1 1 1 0 5 5 0
<HEWLPTH 578 1,168 564 604 -3 —4 0 0 0 -3 1 4 -1 0 1
<O T H 283 600 320 280 8 9 0 0 0 8 9 1 1 3 2
<WEIEEH 2,679 5,626 2,772 2,854 7 0 -3 1 4 4 16 12 -1 8 9
WVEAIT—TH 811l 1,695 841 854 10 10 0 0 0 13 16 3 -3 0 3
WIEAR T H 4770 1,121 575 546 —4 -9 0 1 1 —4 0 4 -5 0 5
PIEARTSE 1,288  2,816] 1,416] 1,400 6 1 0 1 1 9 16 7 -8 0 8
s 419 797 382 415 2 2 0 0 0 2 3 1 0 0 0
ek —TH|[ 1,182) 1,857 860 997 1 3 0 1 1 3 12 9 0 3 3
e T H 601l 1,080 523 557 4 9 2 3 1 7 8 1 0 0 0
kR =T H 7531 1,809 848 961 -5 -6 -2 1 3 —4 3 7 0 1 1
sk BRI H 437 865 419 446 1 -2 0 0 0 -2 4 6 0 0 0
o o aE |l 2,973 5,611 2,650] 2,961 1 4 0 5 5 4 27 23 0 4 4
FRIREET 22 51 25 26 0 0 0 0 0 0 0 0 0 0 0
B 737 1,722 825 897 0 2 0 2 2 2 6 4 0 2 2
VEEE 336 716 328 388 -2 -3 -3 0 3 -1 1 2 1 1 0
e — T H 4571 1,094 541 553 -2 -7 0 0 0 —4 0 4 -3 0 3
e T H 414 911 452 459 -2 —4 -1 0 1 —4 2 6 1 1 0
oo B R 871 2,005 993[ 1,012 -4 -11 -1 0 1 -8 2 10 -2 1 3
P — T H 693[ 1,421 710 711 0 -3 -1 1 2 -3 7 10 1 1 0
P T H 541 1,266 595 671 0 -1 0 0 0 1 3 2 -2 0 2
Ve A Er] 1,234 2,687 1,305 1,382 0 —4 -1 1 2 -2 10 12 -1 1 2
P e 310 686 347 339 -2 1 -2 0 2 3 5 2 0 1 1
BEHIR 209 466 250 216 0 1 0 0 0 1 2 1 0 0




